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QUESTION 1

Which of the following is a characteristic of good testing in any life cycle model?
A. Analysis and design of tests begins as soon as development is completed.
B. Some, but not all, development activities have corresponding test activities.
C. Each test level has test objectives specific to that level.

D. All document reviews involve the development team.

Correct Answer: C

QUESTION 2

Evaluate the status of the project against the defined exit criteria.
Which of the following options shows the correct status?

A. Criteria A = OK, criteria B = OK, criteria C = OK

B. Criteria A = NOT OK, criteria B = NOT OK, criteria C = OK

C. Criteria A = OK, criteria B = NOT OK, criteria C = NOT OK

D. Criteria A = NOT OK, criteria B = NOT OK, criteria C = NOT OK

Correct Answer: B

QUESTION 3

In general, why is it NOT a good idea to estimate the testing effort based only on a percentage of development effort?
Identify THREE valid reasons.

A. The quality of the development estimate may be poor.

B. In general bottom-up estimation is always better than top-down estimation.

C. The percentage based technique only applies to the V life cycle model.

D. Using the same percentage every time does not address the level of risk of the application to be tested.

E. The maturity of the organization, e.g. the quality of the test basis, quality of development testing, configuration
management, availability of test tools, also influence the effort needed for testing.

F. It builds on large set of historical data
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G. The result is almost always a too low estimate for the required test effort

Correct Answer: ADE

QUESTION 4

Identify the THREE types of formal peer reviews that can be recognized.
A. Inspection

B. Management review

C. Walkthrough

D. Audit

E. Technical review

F. Informal review

G. Assessment

Correct Answer: ACE

QUESTION 5

Which of the following is a project risk mitigation step you might take as test manager?
A. Testing for performance problems

B. Hiring a contractor after a test analyst leaves the company

C. Arranging a back-up test environment in case the existing one fails during testing

D. Performing a project retrospective meeting using the test results after each increment

Correct Answer: C
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